
Time: 10 Minutes Paper Math 4 Total Marks: 10

1st Month, 1st Week, 3rd Day Syllabus: Unit 1 Exercise # 2  Complete

Q.No.1 Encircle the correct answer from the following choices. (5)


i. 45 145 is greater than:   ____________ 45 145

(a) 45 146 (b) 45 244 (c) 45 144 (d) 45 047

ii. 4 753 ___________ 17 314 4 753 ___________ 17 314

(a) > (b) < (c) = (d) <

iii. The given numbers are written in ________ order. 62 870, 75 110, 78 200

62 870, 75 110, 78 200  ___________ 
(a) descending order  (b) ascending order 
(c) both (a) and (b)  (b)  (a) (d) none of these 

iv. Correct descending order of the following is: 
(a) 68 200, 65 110, 52 870 (b) 52 870, 65 110, 68 200

(c) 65 110, 52 870, 68 200 (d) 68 200, 52 870, 65 100

v. Correct descending order from the following is: 
(a) 13 411 , 13 412 , 18 071 (b) 13 412 , 13 411 , 18 071

(c) 18 071 , 13 411 , 13 412 (d) 18 071 , 13 412 , 13 411

Q.No.1   Compare the following numbers by using symbols. (< , >, =) (2)

 (< , >, =) 
(i) 65 356 _________ 65 353 

(ii) 68 709 _________ 68 709

Q.No.2.   Write the following numbers in an ascending order. (1)


(i) 89 675, 84 675, 89 546 _________________________________________

Q.No.3.   Write the following numbers in descending order. (2)


(i) 16 483 , 23 601 , 36 243 _________________________________________

(ii) 42 734 , 53 385 , 48 174 _________________________________________
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